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) ) . a+b a—>b
sin a + sin b =2sin 5 cos 5

) . a+b . a-b
sina-sinb= ZCOSTsmT

a+b a-b
cos a +cosh = ZcosTcosT

.. a+b . a-b
cosa—cosh = —ZsstmT

sinacosb = %[sin(a+ b)+sin(a—Db)]
cosasinb = %[sin(a+ b) —sin(a—Db)]
cosacosh = %[cos(a +b)+cos(a—hb)]
sinasinb = —%[cos(a +b)—cos(a—Db)]
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1-cosx = 2sin? X
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C0s 2x = 2cos® x—1=1—2$in2§

cos? X_1+cost
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tanacota =1 T
: cot(x+—=) =—tanx
Ssinacsca =1 2
cosaseca =1 CSCX—cot Xx=tanx

¢ sec’x=tan’x+1 .,  csc® x=cot?x+1
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y =arctan X y =arcsin X
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1. [kdx=kx+c
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2.®Ide_a+1x +c(a=-1)

@j1dx=ln|x|+c
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3. @Ia*dx=%+c
@ [edx=e*+c
4. @ [sinxdx =—cosx+c
@ [ cos xdx =sin x+c¢
@ [ tanxdx =-In|cos x| +¢
@ [ cot xdx =Injsin x| +¢
® [secxdx = Injsecx+tan X +¢
@ [ csexdx = Injcscx—cot x| +¢
@ [sec’xdx = tanx+c
® [escidx=<cot x+c
@ [secxtan xdx =seex+c

@jcscxcot xdX = —CSCX+C
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J‘ll_xz
@I\/i—arcsm +C
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®-[1+x2 —arctanx+c¢
dx 1 X
J‘ﬁ=—arctan—+c
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1. Csinx)" :sin(x+n7ﬁ) (sinkx)" =k“sin(kx+n?”)
2. (cosx)" =cos(x+n7”)

3. ( 1 )n:(—l) n!a1
ax+b (ax+b)™

<. leibniz X,

(uv) =u'v+uv

(uv)" = (UV+uv) =uv+uV +uV' +uv’ =u"v+2u'V' +uv’ = Cu'v+Cu'Vv' + CZuv’



